

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Bach Oil Production 82 W. 500 Ln. Phillipsburg, KS 67661

## INVOICE

Invoice Number: 145774

Invoice Date: Sep 16, 2014

Page:

1

	Customer ID	Field Ticket#	Paymen	t Terms
1	Bach	55322	Net 30	Days
	Job Location	Camp Location	Service Date	Due Date
	KS2-01	Russell	Sep 16, 2014	10/16/14

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Cox #1		
175.00	CEMENT MATERIALS	Class A Common	17.90	3,132.50
330.00	CEMENT MATERIALS	Gel	0.50	165.00
495.00	CEMENT MATERIALS	Chloride	1.10	544.50
175.00	CEMENT SERVICE	Cubic Feet Charge	2.48	434.00
412.50	CEMENT SERVICE	Ton Mileage Charge	2.75	1,134.38
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
50.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	220.00
50.00	CEMENT SERVICE	Pump Truck Mileage	7.70	385.00
1.00	CEMENT SUPERVISOR	Rob ert Yakubovich		
1.00	EQUIPMENT OPERATOR	Nathan Donner		
1.00	OPERATOR ASSISTANT	Jonathan Price		
	ر با در در خروعه میده میداد. میرو باده مدیری باده	and the transport of the second secon		
				,
ALL DDICE	ES ARE NET PAVARIE	Subtotal		7,527.63

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE Oct 16, 2014

Subtotal	7,527.63
Sales Tax	255.49
Total Invoice Amount	7,783.12
Payment/Credit Applied	·
TOTAL	7,783.12

## ALLIED OIL & GAS SERVICES, LLC 05. 22 Federal Tex I.D.# 20-5975804

REMIT TO P.O. B	OX 31 ELL, KAN	NSAS 676	65			SERVICE POINT:					
•								10020- 9			
DATE 9-16-14	SEC.	TWP	RANGE	19	CALLED OUT	ON LOC	ATION	10B START 730PM	JOB FINISH 800PA		
LEASE COX	WELL#	i	LOCATIO	N PL.	11:0-6 2	7-1/1	1.1	Phillips	STATE		
OLD OR NEW CI			3/1	1 W;	llipsberg 2	ي مرسد	2 122	1 1111/03			
				, w;	,, 40			J			
CONTRACTOR /	Jarfi.	126	/		OWNER						
TYPE OF JOB 36											
HOLE SIZE 12 CASING SIZE 8		T.D		. <u>23</u> 2,3	CEMENT	DDEDED	1.75	ca. 35a.	= 2 20ge/		
TUBING SIZE 8	78 63		PTH Z		AMOON1 C	KDEKED.	1700	am 0 100	c croger		
DRILL PIPE			PTH				j				
TOOL			PTH								
PRES. MAX	·		NIMUM		COMMON_	175	ļ		3132,50		
MEAS, LINE		SH	OE JOINT	15	POZMIX _	3.3		-@ <del></del>	165-00		
CEMENT LEFT IN	1 CSG.	/			GEL _	1103	<u>9</u>		544.50		
PERFS.		1-2	111		CHLORIDE		-	@ <u>                                     </u>	J17.00		
DISPLACEMENT		1.)	001		ASC			@ @			
•	EQU	IIPMENT	·			maz	Tric		3842.00		
		<del></del>			<del></del> .			@	• •		
	CEMENT					· De	ie .	@ 960.5	7		
# 707 BULK TRÚCK	HELPER	N918	94 1J		<u> </u>						
	DRIVER	T	P			·	1	@			
BULK TRUCK	DITTER	Udn					!	@ @			
	DRIVER				HANDLING	175 cl	<u>.L</u>	@ <del>2.48</del>	434:00		
					MILEAGE	43 7/	4	2.25	1134.38		
	RE	MARKS:				12.5		TOTAL	v <del>5410.∂8</del>		
	34.01	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		•	·		1	101111			
Sec log					ANCAP TO		SERV	ICE			
•					DEPTH OF	JOB		223			
***************************************			•		PUMP TRU		Е	1512.2			
					EXTRA FO	OTAGE	1	@			
(cmint di	d ch	ca lat	ctop	<u>:†</u>	MILEAGE,	50 LV	MI	_@ <i>4.90</i>	220.00		
(12 sts)		1			— MANIFOLI	01111111	<u> </u> -1		- <del>26</del> 5 00		
<del></del>	Thom	k you	ž - 1	•		17 6 5-1	:	_@ <i>1.70</i> _ @	<u> </u>		
i?	- /	·/			•				3685.63		
CHARGE TO: B	ach (	<u> </u>				Desc	94	140 TOTAL	3685.63 L 2 <del>117.25</del>		
STREET						,	- 70	77° IOIA			
CITY	` 01	ATE	7	IP				•	•		
CITY		AIE		<u> </u>		PLUG 8	FLOA	TEQUIPME	NT -		
						•		@			
								@			
To: Allied Oil &	Gas Serv	ices, LLC						@			
You are hereby r				quipmer	nt ——			@			
and furnish ceme											
contractor to do									-		
done to satisfacti	on and su	pervision	of owne	r agent o	r			TOTA	L		
contractor. I hav	e read an	d underst	and the "C	JENER/	AL GALEDEA	V (16 A)					
TERMS AND C	ONDITIC	NS" liste	d on the i	everse si	ide. SALES TA	A (II Ally)	<u></u>	2 / 5			
, , ,					· TOTAL CH	ARGES	76	1.6.5	ID IN 30 DĄYS		
PRINTED NAME	Anth	onu 1	Massi	7	DISCOUNT	r 1881	91	<i>_25/</i> ₽PA	ID IN 30 DAYS		
									•		
SIGNATURE	21/-	M	Py t-	<del>}</del>	net *	5645	,16				
SIGNATURE [//	us sin	4 4 1 B			-	3					
	,						•		•		
			ومادات والمساور		والمراجع المراجع المرا	القامات مواوج محسة فالتفان	ور در المراجع	y 1	روات المامية المراكزة والمواتزة والمحمد عمر من المسلم		
									•		



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Bach Oil Production 82 W. 500 Ln.

Phillipsburg, KS 67661

## INVOICE

Invoice Number: 145976

Invoice Date: Sep 21, 2014

Page: 1

Federal Tax I.D.#: 20-8651475

 Customer ID	Field Ticket#	Paymen	t Terms	
Bach	55327	Net 30 Da		
Job Location	Camp Location	Service Date	Due Date	
KS2-02	Russell	Sep 21, 2014	10/21/14	

Quantity	. Item	Description	Unit Price	- Amount
1.00	WELLNAME	Cox #1		
258.00	CEMENT MATERIALS	Class A Common	1.10	283.80
450.00	CEMENT MATERIALS	AMD	25.90	11,655.00
150.00	CEMENT MATERIALS	60/40/2% Gel Blend	18.43	2,764.50
2,250.00	CEMENT MATERIALS	Gilsonite	0.98	2,205.00
1,786.00	CEMENT MATERIALS	Salt	0.68	1,214.48
600.00	CEMENT SERVICE	Cubic Feet Charge	2.48	1,488.00
1,380.00	CEMENT SERVICE	Ton Mileage Charge	2.75	3,795.00
1.00	CEMENT SERVICE	Long String	2,558.75	2,558.75
50.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	220.00
1.00	CEMENT SERVICE	Manifold Rental	275.00	275.00
150.00	CEMENT SERVICE	Heavy Vehicle Mileage	7.70	1,155.00
1.00	EQUIPMENT SALES	5-1/2 AFU Float Shoe	545.00	545.00
1.00	EQUIPMENT SALES	5-1/2 Latch Down	660.00	660.00
10.00	EQUIPMENT SALES	5-1/2 Centralizer	57.00	570.00
5.00	EQUIPMENT SALES	5-1/2 Basket	395.00	1,975.00
1.00	CEMENT SUPERVISOR	Robert Yakubovich		
1.00	EQUIPMENT OPERATOR	Nathan Donner		
1.00	OPERATOR ASSISTANT	Tracy Jordan		
1.00	OPERATOR ASSISTANT	Tyler Wellbrock		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 6,586.55

ONLY IF PAID ON OR BEFORE
Oct 21, 2014

	, , , , , , , , , , , , , , , , , , ,
Subtotal	31,364.53
Sales Tax	1,454.54
Total Invoice Amount	32,819.07
Payment/Credit Applied	
TOTAL	32,819.07

## ALLIED OIL & GAS SERVICES, LLC 055227

REMIT TO P.O. BO				I.D.# 20-5975804		SERV	ICE POINT:	11 14 5
RUSSE	LL, KAN	SAS 6766	5				Russel	7 /65
DATE 9-21-14	SEC.	TWP.	RANGE	CALLED OUT	ON LOCA	MOLT	IOB START	JOB FINISH
DATE 1-21-11	_3	<u> </u>	19				COUNTY	STATE
	WELL#	<u> </u>	LOCATION Ph: 11.	orberg KS i	22N6	W	COUNTY Ph://ips	ES
OLD OR NEW Circ	le one)		INW	•			] ′	
CONTRACTOR	1.00	, 29	1	OWNER	į			
TYPE OF JOB				OWNER	<del></del>		*****	
HOLE SIZE 7%	,V	T.D.	3451	CEMENT	,			
CASING SIZE 5 /2	15.	5 DEF	тн <i>3454</i>	AMOUNT OF	RDERED 5	50	AMD 54	Gillst
TUBING SIZE		DEI		150 69/40	2709	. [ 10	0705-14	270 cc
DRILL PIPE			TH			····		
TOOL			TH	- GOMMON			@	
PRES. MAX			NIMUM DE JOINT 12,17	_ COMMON			 	
MEAS, LINE CEMENT LEFT IN	CSG		2.17	. POZMIX <u> </u>				
PERFS.	C3G.		6111	CHLORIDE	25	8#	@1.10	283-80
DISPLACEMENT		81.	93	ASC			@	
	ROU	IPMENT		AMD	450	>	@ 25.90	11655.00
	EQU.	A Flübert ba		60/40	150			2764.50
PUMPTRUCK C	TERATERION	20 Pal	ert y	- Gilsonit			@ <i>0.98</i>	
		Nath		- Sa/+			@ <i>0.68</i>	1214.48
BULK TRUCK	ILLI LIC.	10470	÷n []	-	. h			18/22:78
	RIVER	Tracy	· J		mater	ral	_@_ <u>3%5</u> ;	_ <u>181,22,7,8,</u> 00)
BULK TRUCK		•			;	4-		<u></u>
# 48/ I	DRIVER	Tyle	r W	- HANDLING	600 5	ts	@2.48	1488-0C
				MILEAGE 4	380 +	m	2.75	<i>3775.0</i> 0
	REN	MARKS:					TOTA	L <del>23405.7</del> 3
•				_	:			
500 109		·		-		SERVI	CE	
***********			· · · · · · · · · · · · · · · · · · ·	DEPTH OF J	OB · ···		3454	
				_ PUMPTRUC			2558	
Circulated 5	Osts	to p:	<i>t</i>	EXTRA FOO	TAGE		@	
			•	MILEAGE .	50 LV	MJ		220.00
				<ul> <li>MANIFOLD</li> </ul>		<u> </u>	_@ <u>275.00</u>	1155,00
	Than	k yo	cu!!!	150 H	VMI_	! !	_ <sub>@</sub> 7.70	105,00
	_	_				<del></del>	@	9491.75
CHARGE TO: 13	ach C	<u> 2:1_</u>		_ ,	11.	, اسمارا		
CTDEET				1	juse,	1993	. 26 TOTA	L75-3-70
STREET						ſ		
-CITY	ST	ATE	ZIP		- PLUG &	FLOA	T EQUIPME	ENT
					1000		- =110 -	
				WF 5 1/2 A	7+4,46	51 Sho	<u>, (0,545,00</u>	545.00 00 660.00
				W15/2 1	latol do	11/M	0660.0 057.00	570,00
To: Allied Oil &	Gas Servi	ices, LLC		WF5/2 6	L-1-1	(5)		6 1975.90
You are hereby re	quested i	to rent ce	menting equipment		9			
and furnish ceme	nter and l	helper(s)	to assist owner or					
contractor to do v	vork as is	listed. T	he above work was	L.	lise ?	187.2	50 TOTA	13750.0
done to satisfaction	on and su	pervision	of owner agent or	-			LOIF	
contractor. I have	e read and	d underst	and the "GENERAI	SALES TAX	(If Anv)_			
	DITION	NS" liste	d on the reverse sid	<b>.</b>		311	F-2	
TERMS AND CO								
TERMS AND CO				TOTAL CHA	ARGES	<u></u>	719	
				TOTAL CHA  DISCOUNT	48GES3 4	,55 ,55	212	AID IN 30 DAY
PRINTED NAME		11/2	7 , 1	_ DISCOUNT	6586	<u>,55</u>	(2/2pg	AID IN 30 DAY
		1, II,	ilud.	_ DISCOUNT	4.586 2,4,77	<u>,55</u>	(2/2pg	AID IN 30 DAY